. YKa)XUTe BEPHOE PaBEHCTBO:

1
1) 4%t =6 2) logyy 15 =—1  3)log;;12=0  4) log;17=17
5) logs36 =06

. YKaxure BEPHOE PAaBEHCTBO:

1
1 3logs3 _ 5 2) 10g77 =7 3) IOg31 3—1 =—1 4) 10g5 25=5
5) logy;23 =0

. Ykaxute BEPHOC paBCHCTBO:

1) log;9=3  2) log,g28 =0  3)5"°&5=3  4) logs;53 =153

1
5) log;s 5 =-1

. YKaxute BEPHOC PaBCHCTBO:

1
1) logy;47 =47 2) logyg 29— -1 3) log,16 =4 4) log;333 =0
5) 282 =3

. YKa)XHUT€ BEPHOE PAaBEHCTBO:

1
1) log;49 =7 2) 3% =6 3) logy26=0 4) logs, 34 -1
5) logg, 83 = 83
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